Fi‘ime: 1 Hour ‘ Recruitment Test- 2020

1. They while their evenings with books and games. Here while is-

aynoun  b)verb  c¢)adjective  d)adverb
2. His evidence bears out, the evidence of the first witness. Here

bears oul means-
'a‘:.f{;?ﬁ"nﬂ by nullifies  ¢) attacks  d) none
3. The person with “you should registering

your complaint i is the manager, but he's unavailable -

the moment.
a) which, be, for  b) who, at, for
¢) which, who, at _dywhom, be, at
4. If you had come earlier, you would found a good seat.
a)have b)had c¢)can d)has
5. A misconception frequently held by novice writers is tha
sentence structure mirrors thought: the more convoluted the
structure, the more the ideas.
a) complicated b) engaged c)essential d) fanciful
6. People who pay their debts are trusted. Here who pay their de
a) Phrase by Clause c¢) Idioms ° d) Gerund

7. I've got a week to finish this,  is just about long enough.
a) what b) which c¢) whether d) who
8. He really can't work out, he has to go to get

information he needs.
aywhat, the b) which, to ¢) what, to  d) for, which
9. Reading is very good children's intellectual development.
a)at b)on c)for d)in
[0. The quote “All the glitters is not gold” is from which play of |
Shakespeare? www.prebd.com
a) The Merchant of Venice b) Othello |
c) Romeo and Juliet d) None
I'l. How many countries are members of Commonwealth?
a)47 b) 51 c) 57 d) 6l
12. The total border district of Bangladesh-
a)29  b)32 c)45 d)53
)} What is the position of Bangladesh in the Financial Privacy Index
a)20th b)37th c)43th @) S4th
14. The river Padma enters into Bangladesh through-
a) Sylhet  b) Rajshahi  c) Mymensingh d) Pabna

15, The headquartr:r of World Economic forum is situa!ed in-
y Geneva c) Davos d) San Francisco
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18. Which bank the first to 1 dJuce dual cCurte cy

system in Bangladesh?
Mutual Trust Rank  b) City Bank

¢) Dutch Bangla Bank d)AB Bank .
- is not an officia Janguage of tt
L

19. Which one of the following

United Nations?
¢) Portuguese d) Spanish

a) Arabic  b) Chinese
ibes lives in the Chattograin Hill Tracts is-

90. The number of tr!
. a) 7 b) 9 ¢) 11 d) 15
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0)Y = 1 elso Y l!_, /4
DY 1LY WY=leY o)Y=Y-1l dY=1%Y ‘117’:,
0. Which one is the charaeteristics ol Stack ADT?
a) Sequential lndex~ _b) Last In First Out Y. DL {
w) Fiest tn Pest Qul ) Koy nul‘nm‘ng : 22 a =
11, What is the greatest prime factor of (_Z_:f =17 @

7/
determine the value of x and y.

d) 3,4 T >

i S

) W ¢) I
12 10 xA2y=4 and ;’I=2+ then

H} liz h} 2!‘ v "‘.‘I
73 Which one is a factor of 2x"-5x*+6¢?-5x+2 7 uy =Y 0)
AN+ Xl ox2 ) x-4__. ST
4 Ylow many positive integers less than S0Dycan be formed using L b
the nmulwrsrll;’_@_u_ml 5 for the digit? 9 - ¢ A
CIE L) Zalt ¢) 62 d) 68
5 Which one of the following is the minimum value of sum of
;"):i“"’-'ﬂfrs whose product is 367 _ W2 ,%:4%
2 bi1s 20 d)35

. ) /
6. A computer takes 50 nanoseconds to do an addition. How v 9 # L XT
many additions can it do in 1 second? www.prebd.com !
_a¥20 million  b) 25 million  ¢) 30 million d) 35 million v o
" a & 2_q7 . \
If = ==and b E; then ET‘L-» 15- 7z #E
a®

5 L 1 c
1 7 a . o .
a)- AL 3) - 1y none of these
3= A5 ©) d) n¢ Ly XD

25 L . ,
'R When the speed is increased by 4 miles per hour, it takes 4 hour 9) X | |
1 Find the previous speed.

less o cover a distance of 32 Ki
3) 8 km ,I)j/l km ¢) 12km d) 2 km LX G
+o. What is the number of divisor of /e : étg

o2 b)20 30 )32
80. Aumber consist of two digits, the sum of the digit is 10. 1672
%ﬂﬁlhlnuwd from the number, the digits are interchanged.
ind the number. E._., A =
b) 82 44‘” d) 95 'jf:-" AAU

A R = Vb 1258
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3.  They while their evenings with books and games. Here while is-
¥, noun %, verb o1, adjective 9. adverb € o
3. His evidence bears our, the evidence of the first witness. Here bears out means-
. confirms +. nullifies s. attacks Y. none B ®
@, The person with ....... vou should .... registering your complaint is the manager, but he's
unavailable ..... the moment.
= which, be, for ¥ who, at, for . which, who, at =. whom, be, at B.
8. If you had come earlier, you would......... found a good seat.
#. have <, had si. can 9. has E =
¢. A misconception frequently held by novice writers is that sentence structure mirrors
thought: the more convoluted the structure, the more .... the ideas. www.prebd.com
. complicated . engaged . essential %. fanciful B
&, People who pay their debts are trusted. Here who pay their debts is-
#. Phrase ¥, Clause s1. Idioms 9. Gerund .9
9. I've got a week to finish this, ....... is just about long enough.
@, what %, which i1, whether W, who E o
. He really can't work out, ....... he has to go to get ........ information he needs.
#. what, the %, which, to s1, what, to . for, which € =
». Reading is very good ....... children’s intellectual development.
=, at %, on s1. for €. in ., o
so. The quote “All that glitters is not gold™ is from which play of Shakespeare?
#. The Merchant of Venice 4. Othello 4. Romeo and Juliet . None B =
3. How many countries are members of Commonwealth?
. 47 ¥ 51 f1. §7 W, 61 €, ¢8
qB1: 28 (WE wreEfew fammafr)
33, The total border district of Bangladesh-
% 29 ¥ 32 1. 45 ¥, 53 B o
ABT: Sub (WqE Ameem fammafe)
8. What is the position of Bangladesh in the Financial Privacy Index 20207
7. 29" o, 37" sf, 43" v, 54" 8. v (smzffes)
38. The river Padma enters into Bangladesh through-
@. Sylhet 4. Rajshahi 5. Mymensingh % Pabna B«

“B1: Mo (WS e famamafe)
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s¢. The headquarter of world Economic foram is situated in-

o,
°4.

o,

o,
20,

3.
23,
9.
28,
e,
b,
21,

b,

1B,

93,

=, Cologny 4. Geneva . Davos 9. San Francisco ©. %
BT: 3o (Wil wrwefee frmmaf)

The term of a non-permanent member of the UN security council is-

. 2 years %. 3 years . 5 years %, 7 years B
B1: 30 (WIVT NreEies fmmmaf)

The Constitution Drafting Committee of Bangladesh formed in 1972 had-
@« 21 members . 24 members . 31 members % 34 members .9
fB1: Soh (WE e fawmraf)

Which bank was the first to introduce dual currency debit card system in Bangladesh?
#, Mutual Trust Bank «. City Bank <. Dutch Bangla Bank . A B Bank ©. %
Which one of the following is not an official language of the United Nations?
=, Arabic %, Chinese o, Portuguese W, Spanish B.q
B 23y (W e fammaf)

The number of tribes lives in the Chattogram Hill Tracts is- www.prebd.com
% 7 49 .11 w15 B
ofB1: 388 (Wapfw A fammrafo)
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What is the greatest prime factor of (2')* - 1?

%3 45 . 11 w17 LA |

Ifx+2y=4and % = 2, then determine the value of x and y.

71,2 %23 "2, 1 w.3,4 8.
. Which one is a factor of 2x* - 5x” + 6x* - 5x + 27

o ox+ | Y x- f.x+2 9 x-4 L
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How mﬂny pt}smve mtcgers less than 500 can be formed usmg the numbers 1, 2, 3 and 5
for the digit?
. 48 4. 56 5. 62 9. 68 T. ¥
Which one of the following is the minimum value of sum of two integers whose product is
36?
%12 4. 15 5. 20 q. 35 T

A computer takes 50 nanoseconds to do an addition. How many additions can it do in 1
second?
<. 20 million ¥. 25 millinn st. 30 mullion 9. 35 million C. 3
If E—%and%—%, then c;_ ;.11 iS-
T 1 ] L g - 9. none of these ©. ¥
-3 T -2 L ;
When the speed is increased by 4 miles per hour, it takes 4 hour less to cover a distance of
32 km. Find the previous speed.
¥. 8 km 4. 4 km . 12 km 9. 2 km T. ¥
What is the number of divisor of 1008?
<. 12 4. 20 5. 30 q. 32 T of
A number consist of two digits, the sum of the digit is 10. If 72 is subtracted from the

number, the digits are interchanged. Find the number.
€. 73 4. 82 5. 91 9. 95 T, o
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